

Dividing by Negative Powers of Ten (D)

Name: _____

Date: _____

Divide each number by negative powers of ten.

$50 \div 10^0 =$

$50 \div 10^{-1} =$

$50 \div 10^{-2} =$

$50 \div 10^{-3} =$

$50 \div 10^{-4} =$

$70 \div 10^0 =$

$70 \div 10^{-1} =$

$70 \div 10^{-2} =$

$70 \div 10^{-3} =$

$70 \div 10^{-4} =$

$43 \div 10^0 =$

$43 \div 10^{-1} =$

$43 \div 10^{-2} =$

$43 \div 10^{-3} =$

$43 \div 10^{-4} =$

$93 \div 10^0 =$

$93 \div 10^{-1} =$

$93 \div 10^{-2} =$

$93 \div 10^{-3} =$

$93 \div 10^{-4} =$

$62 \div 10^0 =$

$62 \div 10^{-1} =$

$62 \div 10^{-2} =$

$62 \div 10^{-3} =$

$62 \div 10^{-4} =$

$74 \div 10^0 =$

$74 \div 10^{-1} =$

$74 \div 10^{-2} =$

$74 \div 10^{-3} =$

$74 \div 10^{-4} =$

$16 \div 10^0 =$

$16 \div 10^{-1} =$

$16 \div 10^{-2} =$

$16 \div 10^{-3} =$

$16 \div 10^{-4} =$

$27 \div 10^0 =$

$27 \div 10^{-1} =$

$27 \div 10^{-2} =$

$27 \div 10^{-3} =$

$27 \div 10^{-4} =$

$83 \div 10^0 =$

$83 \div 10^{-1} =$

$83 \div 10^{-2} =$

$83 \div 10^{-3} =$

$83 \div 10^{-4} =$

$36 \div 10^0 =$

$36 \div 10^{-1} =$

$36 \div 10^{-2} =$

$36 \div 10^{-3} =$

$36 \div 10^{-4} =$